[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— T —

‘g C : : :

O e e T

o = : : :

GOLAF - -ooeieeee s R SASRRILIE

8 £ : :

U s
0.1 :  CARIEIER REREEREE
0.08F -+ T e e
0.06F i b e

0.04F
0.02

¥

Ratio

0.8F--f--e-}-et

0.6 -<p--anf--i

1

=
2
N

10 . 102
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
s —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
Efficiend _, _ pom_v0001_R000000001__Global _mkFitNewALL1000time__RECO

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
1Q

............

Ratio

1

0.8

10 20 30
TP vert z (cm)

|
w
o

[ Efficiency vs. sim PV z |

~ 0.1

> By i
B Q.00F |-+ chereeeedreeeeneibin b
£ E : E
:/_)0085_ """ E'""""E """"""""""""""""""""
20,07 f-erebeereedee bbb
P E : :
OO SRR SITERTPL CPPRLE SRRORRS
o E : :
o F H H
2 0.05F |- +e-beee b
©  F : :

0.04F o rheeenendenenens o]

0.032— -------------------------------

o0 R R R &

b R : : :

0.01 #*%*%W + ...... PR
o wopmpmo b b L L
R o feeeeees Feeeeees

B S0 1 11 1 L e o A O S

e R i L B By

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


